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Two identical antennas mounted on identical towers are separated from each other by a
distance of 45 km. What should nearly be the minimum height of receiving antenna to

receive the signals in line of sight ?
(Assume radius of earth is 6400 km)
Options :
8643513511, /-1 m

8643513512, 2222 m

8643513513, 1082 m

8643513514, 1077 m

Question Number : 1 Question Id : 8643511171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
306 #f41 FHCBT 45 km E TS 4T GHT AREAN GLFE T SUEAS [UE FBAY T GTHA
HIE@ES FCAE (2T | [ AR Toae AEe 4% FEaq A ATF GTo-Ta ey The o7 F '
Ao 7
(47 ¢ #jfe@T o 6400 km)

Options :

8643513511, 79-1 m

8643513512, 00-20 M

8643513513, 1082 m

8643513514, 19-77 m

Question Number : 2 Question Id : 8643511172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The de-Broglie wavelength associated with an electron and a proton were calculated by
accelerating them through same potential of 100 V. What should nearly be the ratio of their
wavelengths ? (m,=1.00727u m,=0.00055u)

Options :



8643513515, 43 : 1

8643513516, 1860 : 1

8643513517, 414 :1

s
8643513518. i B

Question Number : 2 Question Id : 8643511172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
100 V 7 @733 e Iev 34 34 b a3+ WF o' 5 NS o W- 309 992 s ST 4
tzel Fr2ed SaonTiT e o F '3 7 (my, =1.00727u m,=0.00055u)
Options :
8643513515, 4311

8643513516, 1860 : 1

8643513517, 1411

‘M2 .
8643513518. Lol R

Question Number : 3 Question Id : 8643511173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The refractive index of a converging lens is 1.4. What will be the focal Iengfh of this lens if it
is placed in a medium of same refractive index ? Assume the radii of curvature of the faces
of lens are Ry and R, respectively.

Options :

8643513519, 2eT0

8643513520, 1

8643513521, Infinite



R Ry

8643513522. o B

Question Number : 3 Question Id : 8643511173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
G TSR (@A ATOEEF 1.4 | AWE T GTFE diSTEFT OF TS 4T AT @3 @GR

et & 277 (R EReE 12 Fo9T SSaPRI T R, SFR, |

Options :

=y
8643513519, °

8643513520, 1

8643513521.‘ﬂiiﬂ
"Ry R,
Rq — Ry

8643513522,

Question Number : 4 Question Id : 8643511174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Red light differs from blue light as they have :
Options :
8643513523 Same frequencies and same wavelengths

Different frequencies and different wavelengths
8643513524.

R643513525. Same frequencies and different wavelengths

Different frequencies and same wavelengths
8643513526.

Question Number : 4 Question Id : 8643511174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T CATZTSLF 8l o2 @l firEe P



Options :

2643513503, F T GTF3 TF TILSTET GTF3 |

8643513524, T I [AUF TE SRACK 2|

8643513505, FIITIRE TR SIF TALSLE ST |

T AT TF TS P3|
8643513526. k! 2

Question Number : 5 Question Id : 8643511175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—3 I o
The magnetic field in a region is given b‘i, B =B, ‘ s |k. A square I_(}(}p of side d is plac::-d
\a .

with its edges along the x and y axes. The loop is moved with a constant velocity v =0, 1.

The emf induced in the Ioop is :

Y
A
)z
d
d
> X
Options :
B, v, d

8643513527,  2a

8643513528. a

8643513529, 24

8643513530.



Question Number : 5 Question Id : 8643511175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
._. { e 4 M " . = by
9T T%Fq (IF9F =g WE e B = B, |i|;f | x SF y ST S A 4R AF S d ArdREE
l.a/'. A
OB FSNFGT o T4 (2R T 9F FqF @ v = v, 1 (4 51 FET (2" | FHHTS 2w @ e

BIES 95 o9 :
4

F

Options :

8643513527.

8643513528.

8643513529.

B, 7, 2

8643513530.

Question Number : 6 Question Id : 8643511176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Amplitude of a mass-spring system, which is executing simple harmonic motion decreases
with time. If mass=500g, Decay constant=20 g/s then how much time is required for the

amplitude of the system to dmp to half of its inital value ?
(In 2=0.693)

Options :

8643513531, 4658

8643513532, 12-01 s

0.034 s
8643513533.

8643513534, 1192 S

Question Number : 6 Question Id : 8643511176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= RS 9IS T Fie 4 OF ST-Fefe i g e e gri e | A% w9 =500g, b
FIF=20g/s T, FERGA A T AARF T T T A FAT TR LA 2 7

( In 2=0.693)

Options :

8643513531, 21698

8643513532, 1001 8

8643513533, 0034 s

8643513534, 17.32s

Question Number : 7 Question Id : 8643511177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the value of mean free path (A) for oxygen molecules at temperature 27°C and
pressure 1.01x10° Pa. Assume the molecular diameter 0.3 nm and the gas is ideal.
(k=138x10"= K™

Options :



2
8643513535, 02 nm

58 nm
8643513536.

8643513537, 50 nm

102 nm
8643513538.

Question Number : 7 Question Id : 8643511177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1.01 x 10° Pa B S 27°C TS 49 SIS SO a9 918 IS 12 (N) T T ST 411 49 coman
@ ColRLH S (ol ST SEfEE a1 0.3 nml (k=1.38x10 "2 JK Y

Options :

8643513535, J2 nm

8643513536, 00 NmM

8643513537, 56 nm

8643513538, 102 nm

Question Number : 8 Question Id : 8643511178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will be the nature of flow of water from a circular tap, when its flow rate increased
from 0.18 L/min to 0.48 L/ min ? The radius of the tap and viscosity of water are 0.5 cm and
10~ 3 Pa s, respectively.

(Density of water : 10° kg/m?)

Options :

8643513539, Steady flow to unsteady flow

8643513540, Unsteady to steady flow

Remains steady flow
8643513541. T



FRemains turbulent flow
8643513542.

Question Number : 8 Question Id : 8643511178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ao 349 #a1%4 279 0.18 L/ min T #/@1 0.48 L/min 05 3% 14, @5 @@ (55 /7@ #@1 #1-q
#A%A 4§ F TT 7 TAGE NS TF #Aq AwS! FH 0.5 cm TE 103 Pas|

(#1<Ta ==1% : 10% kg/m?)

Options :
8643513530, 124 U AT Wgq HATRLA |

8643513540, T SR T BT =LA
864351354] (B9 HAICEZ AHA

8643513542, T8 UACZ AT |

Question Number : 9 Question Id : 8643511179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
= —
A charge Q is moving dl distance in the magnetic field B . Find the value of work done by

—
B.
Options :

8643513543, 1

8643513544, LCTO

8643513545, 1nfinite

=3
8643513546.

Question Number : 9 Question Id : 8643511179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



% = — 3 x —» . s
97 GIFS CFT B © «F AW Q W dl §4% 1S FEEI B TH (el a1 SR wAfarer oyl 7 |
Options :
8643513543, |

8643513544. £a

8643513545. =

8643513546, !

Question Number : 10 Question Id : 8643511180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calculate the time interval between 33% decay and 67% decay if half-life of a substance is
20 minutes.

Options :

20 minutes
8643513547.

40 minutes
8643513548.

8643513549, 00 minutes

13 minutes
8643513550.

Question Number : 10 Question Id : 8643511180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wz @B #RE WY 20 minutes T (0% 33% U0 WIF 67% AT ST T SEAE SO
4T |
Options :

l'? *
8643513547, 20 minutes

40 minutes
8643513548.

8643513549, 60 minutes



8643513550, 12 minutes

Question Number : 11 Question Id : 8643511181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the given circuit, comment on the type of transformer used.

iy ip_ 0.11A

o

7| |[s]

20V @

Options :
2643513551, Step - up transformer

8643513552. Step down transformer

8643513553, Auto transformer

Auxilliarv transformer
8643513554. x

Question Number : 11 Question Id : 8643511181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i i 011A

220V G

O,

Options :
8643513551. 3



8643513552, 21T A NGIF

8643513553, 0 HIEAS

8643513554, 124 F HATGIF

Question Number : 12 Question Id : 8643511182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The half-life of Au'® is 2.7 days. The activity of 1.50 mg of Aul!?® if its atomic weight is
198 g mol ! is, (N, =6 x10%/mol).
Options :
s e
3643513555, 240 ¢

8643513556, -2

8643513557.

8643513558.

Question Number : 12 Question Id : 8643511182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Aul? g o#fig 2.7 W11 aficz TWE AEeEE /9 198 g mol ! 28 1.50 mg, Aul® T AfEmer =
________ | (N ,=6x10%/mol).

Options :
8643513555, 240 Ci

8643513556, 22/ Ci

=)
L
3
2|
L

8643513557.

8643513558, 200 Ci

Question Number : 13 Question Id : 8643511183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
A bimetallic strip consists of metals A and B. It is mounted rigidly as shown. The metal A

has higher coefficient of expansion compared to that of metal B. When the bimetallic strip is

placed in a cold bath, it will :

Options :

8643513559, Bend towards the right

9643513560, Dend towards the left

8643513561, TVot bend but shrink

8643513562. Meither bend nor shrink

Question Number : 13 Question Id : 8643511183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a5 A OIF B (4 OF TR+ A1 (20R|  (TYSAT HT T YEEId Sl - -
BT TES 419 A T 4R 9 F (A @fenT «F Tredw «BihE «F frem s 9971 57, 3 7

Options :
8643513559, CTFILE (IFT (Z T

8643513560, JNSFICH @ (2 A
864351356] A 24 fFE AAFHA 2T

8643513560, IS T FRIFIGE S T2



Question Number : 14 Question Id : 8643511184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A large block of wood of mass M=15.99 kg is hanging from two long massless cords. A bullet
of mass m=10 g is fired into the block and gets embedded in it. The (block + bullet) then
swing upwards, their centre of mass rising a vertical distance h=9.8 cm before the
(block + bullet) pendulum comes momentarily to rest at the end of its arc. The speed of the

bullet just before collision is :

(take g=9.8 ms 2
[ LT

i M
—=
I.‘

Options :

8643513563, D114 m/s

8643513564, 5214 m/s

8643513565, 5014 m/s

8643513566, CrL4 m/S

Question Number : 14 Question Id : 8643511184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



M =5.99 kg S99 4T TIST F1IA [/ FF [0 M¥a1 Ta2/ FOT q GoAE I (20 | m=10 g TIq
G 06 GFANGTS FHE F41 2 IF 2 ©6 (T2 9 | (A6 + 8% ) BT c=fom e onfere =, 394
HIFT (S (JTFAbG+8F) (MAFLH] FOFT LT HT FIFNA 92T wWeTe 2ed
SACFHCH! TordmeS h=9.8 cm TIEA WA FCA| TRES (I BT Ma2ET JLAGGE T A ¢
(g=9.8 ms~ 2 &)

LLLF LTS

m
%
v

Options :

8643513563, D114 m/s

8643513564, 0214 m/s

8643513565, o4 m/s

8643513566, 1A m/s

Question Number : 15 Question Id : 8643511185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Statement 1 : A cyclist is moving on an unbanked road with a speed of 7 kmh I and
takes a sharp circular turn along a path of radius of 2m without reducing
the speed. The static friction coefficient is 0.2. The cyclist will not slip and
pass the curve. (g=9.8 m/s?)

Statement II : If the road is banked at an angle of 45° cyclist can cross the curve of 2Zm
radius with the speed of 18.5 kmh ~! without slipping.

In the light of the above statements, choose the correct answer from the options given below.

Options :

2643513567, Both statement I and statement 11 are true



3643513568, Both statement | and statement 11 are false

643513569, Statement [ is correct and statement 11 is incorrect

8643513570, Statement 1 is incorrect and statement 11 is correct

Question Number : 15 Question Id : 8643511185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

faafe1: @z« siRreacy bl Srze-a] %M@ 7 kmh ~ | Fiorq 5ife Fq =0e o whe g T4
AT UF 2m AN 51 T JRFA 1T (ALl (FeF TN BNF 0.2 | S A
folest T4 oT% 9&C51 79 (2 T91 (g =9.8 m/s2)

feqfe 11: Wz TIWTH 45° TFCS @FTA 02 ATF, SEFAAREE HAEALE 185 kmh 1 whed
2m AL THCH ATE (2 T A

TS 12 TiEq AT, worq AR 4 ' TEq 6F 41|
Options :

8643513567 dTe 1 oI e 11 qaeiE ST
c6a351356g, TATS 1o fagfis 11 FTATGTE e

8643513560 ATS 1701 W wreF fagfis 11 26 wrem

2643513570 fagfe 1 761 wrwm o f4gfe 11 61 wa

Question Number : 16 Question Id : 8643511186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Y

— M M
A mosquito is moving with a velocity v =05 21 + 3t j + 9k m/s and accelerating in
uniform conditions. What will be the direction of mosquito after 2 s ?
Options :

tan "1 (%W from x-axis

8643513571. g



_1(5) :
tan | = | from y-axis
8643513572. i

2
tan ' ;W from x-axis
8643513573. L

' 2
tan 1{;1 from y-axis
8643513574, s

Question Number : 16 Question Id : 8643511186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— A A I q i "
a5 WE v =05t%i + 3tj + 9k m/s TAA S A WA(® AF T AES TS (A7 25T

#lgw o9 W F 3’7 7
Options :
. - i 5
x-SR *€l tan —
8643513571. \2)

' 5
Y-S /Al tan 1{51
8643513572. :

1-SFFG #[] tan 1[-—
8643513573.

y-SFFG ST tan I(Eﬁ
8643513574 \3/

Question Number : 17 Question Id : 8643511187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In order to determine the Young's Modulus of a wire of radius 0.2 cm (measured using a
scale of least count=0.001 cm) and length Im (measured using a scale of least
count=1 mm), a weight of mass 1 kg (measured using a scale of least count=1 g) was
hanged to get the elongation of 0.5 cm (measured using a scale of least count 0.001 cm).

What will be the fractional error in the value of Young's Modulus determined by this

experiment ?



Options :
=
8643513575. et

=
8643513576. :de

”
8643513577. i

3
8643513578, °

Question Number : 17 Question Id : 8643511187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0.2 cm IEE (F=E S 1=0.001 cm T GUF (FFG qE2E FE A F4) FF 1m TEE (FE
ST=1 mm § GUH FAT T4IA F4 T F41) GUH OE9 3989 FRF =T F€99 974, 0.5 cm
(FTF@ S1re1 0.001 cm T GTTH (FH Ta29 $14 A1) Fa1) LA 25799 #Tata @bl 1 kg &9 9G] (FEen
AT =1 g T GUA FA AT A A ) SCANE A L2 |

OF HAFFGE FAT TR T4 ST QNFT WG SA B F 2T 7

Options :

8643513575, 1-4 %

s
8643513576. bedie

D.
8643513577, U-14%

=
8643513578, 0

Question Number : 18 Question Id : 8643511188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A resistor develops 500 | of thermal energy in 20 s when a current of 1.5A is passed through
it. If the current is increased from 1.5 A to 3 A, what will be the energy developed in 20 s.
Options :

8643513579. ot

8643513580. e



8643513581. 1500 J

2
8643513582. 2000 J

Question Number : 18 Question Id : 8643511188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CIfE 09 TEE 1.5 A e #4%e o0 @B @90F 20 s T 500 | O 1 [FEw Fra) awE o4@E
1.5 A 9 #[1 3 A T= 9512 fran 27, 205 © fameT *f& faafe 2737

Options :

8643513579. Ll

8643513580, 1000 ]

8643513581, 1200 ]

2
8643513582. o

Question Number : 19 Question Id : 8643511189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find out the surface charge density at the intersection of point x=3 m plane and x-axis, in
the region of uniform line charge of 8 nC/m lying along the z-axis in free space.

Options :
8643513583, 0 </

7 ~C =2
8643513584, 0-07 nC m

A * 2
8643513585, 0124 nC m

2
8643513586, 10 nCm

Question Number : 19 Question Id : 8643511189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
& F+T (free space) z-Hq fierg o= 8 nC,/m 9 784 A WY@ dF HUEFHS x=3 m
s *@ o werg foref

Options :

8643513583, 47-88 C/m

— ’
0.07 nC m~™~

8643513584,
0424 nC m 2
8643513585,
~ =2
8643513586, +0 nC m

Question Number : 20 Question Id : 8643511190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The fnllnwing Ingic gate is equivalent to :

D

B

—D>
B,

Options :

8643513587, “IND Gate

8643513588, [VAND Gate

8643513589, OR Gate

NOR Gate
8643513590.

Question Number : 20 Question Id : 8643511190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



wHq 7 TS TS 277

Options :

8643513587.

8643513588.

»,

}.

B,

AND (6

NAND ¢

8643513589, OR €5

8643513590.
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Question Number : 21 Question Id : 8643511191 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



[f one wants to remove all the mass of the earth to infinity in order to break it up completely.

o g
The amount of energy that needs to be supplied will be lj i
5

where 1 is

(Round off to the Nearest Integer)
(M is the mass of earth, R is the radius of earth, G is the gravitational constant)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643511191 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

I QT A 4ETT TG TT AANACA (to infinity) STSAZ AR FOLA ATS TF TR0+ TS *@=

. \ . x GM2 .
M| (TG ST 4R TN *Eq AT TT = ——— TT AW | (Frebew spefeamta
R e

CoNGEac 7F4)
(sfeda =1 M, #ffe@T e R, ToHFE =99 G )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643511192 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A swimmer can swim with velocity of 12 km/h in still water. Water flowing in a river has

velocity 6 km/h. The direction with respect to the direction of flow of river water he should

swim in order to reach the point on the other bank just opposite to his starting point is
°. (Round off to the Nearest Integer)

(Find the angle in degrees)

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 22 Question Id : 8643511192 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

#q 1T OT AT 12 km/h @00 ACSRT 901 @34 TS AT @57 6 km/h (347 WEE
@ B9 RAITS 4 W KT [Ee Aef AT I AW A GTed e S (949 AreEd

o,

i1 =7 o1 (Febew ARAtE cobaas )
(@emhmE T L8 aFFs foefg 741 )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643511193 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

¥ A

A A
A body of mass 2 kg moves under a force of (2 i +3j 4 Sk,:l N. It starts from rest and was at

the origin initially. After 4 s, its new coordinates are (8, b, 20). The value of bis _

(Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643511193 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



aF T (27 + 3] + 5k N 7 7 #9712 kg S «F T TS WA % 7T SR @1 WA FA

F A 2 TH e Aea| 4 s e 29 g FF (8, b, 20) | bq I 24
(FTFBe =l e ma CoMbaras )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643511194 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

— A A
Aforce F =4i + 3j + 4k is applied on an intersection point of x =2 plane and x-axis. The

magnitude of torque of this force about a point (2, 3, 4) is . (Round off to the

Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643511194 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x-S I y=2 A 5 RAEAYS GF A F =47 + 3] + 4k 4O w0 LA <5 R (2, 3, 4)

ATCHATE @% 959 5F4 AT T T | (Frbew #efreanta csMbae )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 25 Question Id : 8643511195 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A solid disc of radius ‘a” and mass ‘m’ rolls down without slipping on an inclined plane

2 .
making an angle 8 with the horizontal. The acceleration of the disc will be 0 g sinf) ywhere

b is . (Round off to the Nearest Integer)
(g =acceleration due to gravity

B=angle as shown in figure)

P

6

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643511195 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



IJSFT (TS 0 T3 F4 AF G4 (A TS ‘2’ APTH TF ‘m’ TIq @4 (5161 21 TS

: .- &
THACE A9 AR AL F 2T S gsind, TEb T _ | (Terelon #yefie=mtar canbaae
)
(g =Taaicie g

0 =BoT® (FySa @ @)

0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643511196 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For an ideal heat engine, the temperature of the source is 127°C. In order to have 60%
efficiency the temperature of the sink should be . (Round off to the Nearest

Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643511196 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



@51 S TT+1 S A, BT T 127°C | 60% TR AR AT FAA SO T A ABE___ °Cl
(PGSR 7 TRATE CAMGFae )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643511197 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a parallel plate capacitor set up, the plate area of capacitor is 2 m2 and the plates are
separated by 1 m. If the space between the plates are filled with a dielectric material of
thickness 0.5 m and area 2 m? (see fig) the capacitance of the set-up will be e
(Dielectric constant of the material=3.2) (Round off to the Nearest Integer)

d

Y

Q“‘

R

d

2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643511197 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
aﬁwﬁmmwwﬁﬁzxﬁwcﬁw1mmmtﬂ'@ AWZ OF
YA ToF AeATE ATIpLTq ST TGS 0.5 m ©F TF 2 m?2 FIeq ¢F *[ALapies *MR@ sraEr o3,

AEATHE 49FF 2 9 (TMRIGE *[Aaqed Fa5=23.2) e, (FRRBET sefieamtar cabwad
)
« g >
/)
/
d

2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643511198 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The energy dissipated by a resistor is 10 mJ in 1 s when an electric current of 2 mA flows

through it. The resistance is ). (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 28 Question Id : 8643511198 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AT @ IEH 2 mA R[YR #@E #AE 29 @61 @40F 1s © 10 m] *I& %7 F@| @4 74
Q1 (FEbeT #eAmiE CAheaE w4l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643511199 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A deviation of 2° is produced in the yellow ray when prism of crown and flint glass are
achromatically combined. Taking dispersive powers of crown and flint glass as 0.02 and
0.03 respectively and refractive index for yellow light for these glasses are 1.5 and 1.6
respectively. The refracting angles for crown glass prism will be ° (in degree).
(Round off to the Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643511199 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(AR Sl TIa (achromatically) & & (crown) S Fas (flint) F59 e ALE F41 20 TEAE
afirs 2° 7 fpifs Teom =) BT 6 1< GG F54 [Aogae[ TS TH 0,02 F (.03 FCA @ TF
G FIOALZA A0 ZER (1279 AfST1F T 1.5 AF 1.6 TR e+ 16 fHEwT Acq fer@el e
T (FbeT s e )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :



100

Question Number : 30 Question Id : 8643511200 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A closed organ pipe of length L and an open organ pipe contain gases of densities p and p,

respectively. The compressibility of gases are equal in both the pipes. Both the pipes are

x e

vibrating in their first overtone with same frequency. The length of the open pipe is EY L 1'I.I|F:'_'J

where x is . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643511200 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

L T7Ea OTE T S A2 SIF GO AT ST SR T py SF p, TeTE (1R PLALCR | FLATCTHA
AIZATS C5RA FLTHATOT A | AT #H3A2 FRoq Ha wiegase (overtone) €TFE F=HH

x|
9 (vibrating) T2R | (YT #ZHTEE 07 % L 1,|||||:}l_J TexW_ | (Frebew et

CAMBI 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
Section Id : 86435181
Section Number : 3
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20
Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435181
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643511201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The INCORRECT statement regarding the structure of Cg is :
Options :

ains 12 six- i 24 fi i
8643513601 It contains 12 six-membered rings and 24 five-membered rings.

8643513602, The six-membered rings are fused to both six and five-membered rings.

2643513603, 1he five-membered rings are fused only to six-membered rings.

2643513604 Each carbon atom forms three sigma bonds.

Question Number : 31 Question Id : 8643511201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Cyo T o AT oo Tfeth! 241 :
Options :

Y ” =
8643513601. 3 1207 TU9G F 2451 AEGEY qo T2+ A |

8643513602 R A, ‘?’g LB e *‘Egi 3 FAFE A 7S ANGS (Z ANF |

8643513603 [HEET AT (FI7 TP R F9IS (AN (2 AT |

ARG T Ao fofrom e AT s )
8643513604

Question Number : 32 Question Id : 8643511202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The INCORRECT statements below regarding colloidal solutions is :
Options :
643513605, - colloidal solution shows colligative properties.

A colloidal solution shows Brownian motion of colloidal particles.

8643513606.

The flf}cculati_ng power of A% is more than that of Na*t.
8643513607.

An ordinarv flter paper can stop the flow of colloidal pa_rficles.
8643513608. =

Question Number : 32 Question Id : 8643511202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FCT Teq Fary e aey SiEnr 20 -

Options :
0643513605 a5 FECE WEZ HLATHNS G072 (TyaH |
C6435 13606, G5! FAACH BIT FAACT FEYCZ AR 9178 (TYaH |

3+ | G | b =
8643513607, AP T TTO%T TS Na + &F @fkl

8643513608, T TRME o fFFerg TG FETLT FOFEE FAF (TG TR FET A |

Question Number : 33 Question Id : 8643511203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The characteristics of elements X, Y and Z with atomic numbers, respectively, 33, 53 and 83

are :
Options :

8643513600, v Y and Z are metals.

R643513610. X and Z are non-metals and Y is a metalloid.

8643513611. X is a metalloid, Y is a non-meltal and Z is a metal.



X and Y are metalloids and 7 is a metal.
8643513612.

Question Number : 33 Question Id : 8643511203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X, Y S Z Te @ A_eifas A IAF 33, 53 WF 83, OF (AR 2 A
Options :

8643513600, v ¥ ¥ Z A2

8643513610, X T Z SHIG S Y 5T 4TG5 |
8643513611, X 0T AT, Y 5T SRIG SF Z <57 4|
8643513612, X T Y ATZFH AF Z <51 A3 |

Question Number : 34 Question Id : 8643511204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following reduction reaction CANNOT be carried out with coke ?
Options :

Fe,O, — Fe
8643513613. = -

8643513614, £NO — Zn

Cu,0 — Cu
8643513615. e

ALO, — Al
8643513616,

Question Number : 34 Question Id : 8643511204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
waTs o o e e ' Gre FRE @rEfa 2
Options :

Fe,O, — Fe
8643513613. R



N0 — In

8643513614.

Cu,0 — Cu
8643513615. -

ALO; — Al
8643513616. -

Question Number : 35 Question Id : 8643511205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct statements about H,O, are :

(A) used in the treatment of effluents.

(B) wused as both oxidising and reducing agents.

(C) the two hydroxyl groups lie in the same plane.

(D) miscible with water.

Choose the correct answer from the options given below :
Options :
3643513617, (A (B) and (D) only

s643513618. (B (€) and (D) only

8643513619 (1) (€) and (D) only

sea3s13620, Y (B (€ and (D)

Question Number : 35 Question Id : 8643511205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



H,0, 7 s o Tfemm 2/ :

(A) TET FE@E TS (treatment) TEZE F4T 24|
(B) & W frraer 1, qrAner RN e 341 =
(C) BT T2GRHE Y GF AAFS AT |

(D) g #ors firefer 23

TmEe Roae o w5 Taq ot SEear

Options :

8643513617, (&), (B) =< (D) T4

8643513618, (B) (C) =¥ (D) T4

8643513619, (A), (C) =¥ (D) 714

8643513620, () (B), (C) =< (D)

Question Number : 36 Question Id : 8643511206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Identify the elements X and Y using the ionisation energy values given below :
lonization energy (kJ/mol)
15t 2nd
X 405 4563

X 731 1450
Options :
8643513621, <~ Na; Y=Mg

X=Mg ;Y=Na
8643513622.

8643513623, <~ Fi Y=Mg

8643513624, ~~ Mg Y=F

Question Number : 36 Question Id : 8643511206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
TH T S *Eq TE #@7 A X O Y F e 34 |

e = (kJ/mol)
]_ gLy 2 gLy
X 495 4563
Y 731 1450
Options :
8643513621, <~ Na; Y=Mg
X=Mg ;¥Y=Na
8643513622.
8643513623, < Fi Y=Mg
8643513624, <~ Mg Y=F

Question Number : 37 Question Id : 8643511207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The exact volumes of 1T M NaOH solution required to neutralise 50 mL of 1 M H,PO, solution
and 100 mL of 2 M HHP‘D2 solution, respectively, are :

Options :
2643513625, 20 mL and 50 mL

100 mL and 50 mL
8643513626.

N
8643513627 100 mL and 200 mL

8643513628, 100 mL and 100 mL

Question Number : 37 Question Id : 8643511207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
50 mL 1 M H,PO, &2 o1% 100 mL 2 M H,PO, %% < 34aCa w4911 (2141 33F 1 M NaOH 3
RIS TYHFCT 3 ;



Options :

8643513625, 20 ML =¥ 50 mL

R643513626. 100 mL = <F 50 mL

8643513627, 100 mL =¥ 200 mL

ET<F
8643513628, 100 mL A el

Question Number : 38 Question Id : 8643511208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange the following metal complex/compounds in the increasing order of spin only

magnetic moment. Presume all the three, high spin system.
(Atomic numbers Ce=>58, Gd=64 and Eu=63.)
(a) (NH,),[Ce(NO,),] (b) Gd(NO,), and () Eu(NO,),
Answer is :
Options :
8643513629, (3) < (0) < (©)

8643513630. ey =g

8643513631, () <@ <(©)

8643513632, (O < @< ®)

Question Number : 38 Question Id : 8643511208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

W W 419 Giba/ TAPRES I Td I d aNaq Taawe Fed | 44 E fefiah B% P aiha
=3 |

(sramefas A4 Ce=58, Gd=64 % Eu=163)

(@) (NHy)[Ce(NO;)g] (b) Gd(NO;); =¥ (c) Eu(NOj),

TEqH TA ;



Options :

8643513629, @) < (b) < (c)

se43513630. & <@ =<®)

8643513631, (0 <@ <(©)

8643513632, () < @< ®)

Question Number : 39 Question Id : 8643511209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fexz and Fey3 are known when x and y are :

Options :

8643513633, & F, Cl, Br,  and y=F, Cl, Br, I

8643513634, ¥~ 1r Cl; Br, 1and y=F, C, Br

2643513635, X =1 Cl Brand y=F, CI, Br, |

8643513636, X~ < Br, land y=F, Cl, Br, I

Question Number : 39 Question Id : 8643511209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fex, W® Fey, & I @NSAl x WF y 27 :
Options :
2643513633, X~ F, Cl, Br, | =¥ y=F, Cl, Br, I

8643513634, Y=, CL Br, [S® y=F, (1, Br

2643513635, X=F Cl Bro® y=F, Cl, Br, I

8643513636, ¥ = ¢l Br, 1= y=F, C1, Br, I



Question Number : 40 Question Id : 8643511210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The green house gas/es is (are ) :

(A) Carbon dioxide

(B) Oxygen

(C) Water vapour

(D) Methane

Choose the most appropriate answer from the options given below :
Options :

(A) only

8643513637.

8643513638, (/) and (C) only

8643513630, () (©) and (D) only

Tyem 3%
8643513640, ) 2nd (B) only

Question Number : 40 Question Id : 8643511210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CT% 92 (g (CI=dE) 274 ¢

(A) FHET CETHHZT

(B) SIS

(C) #m=E =T

(D) fawom

ferfeie s @ woRets $oRe Tears! A Shene ;
Options :

8643513637, (A) T

8643513638, (A4 =< (C) 714

8643513639, (Y- (C) B (D) 14



8643513640, () = (B) T4

Question Number : 41 Question Id : 8643511211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-1I :
List-1 List-11
Test/Reagents/Observation(s) Species detected
(a) Lassaigne’s Test (i) Carbon
(b) Cu(Il) oxide (if) Sulphur
(c) Silver nitrate (i) N, S, P, and halogen
(d) The sodium fusion extract gives (iv) Halogen Specifically
black precipitate with acetic acid

and lead acetate
The correct match is :

Options :
8643513641. (@)-(1), (b)-(ii), (c)-(iv), (d)-(iii)

8643513642, (@)-(1i), (b)-(1), (c)-(iv), (d)-(ii)
8643513643, (@)-(ii), (b)-(1), (c)-(it), (d)-(iv)

coi3s36as. (@), B)-v), (©)-(ii), (d)-(ii

Question Number : 41 Question Id : 8643511211 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Sifer - | T Siferat - 11 T 00 Brae :

Siferet - 1 wiferat - 11
A/ o fawifa Eferear aenfe
(a) ToTEZea (i) T
(b)  Cu(ll) SRI=ZT (i) =R
(c) feeTom 2G0 (i) N, S, P e t2 &
(d) =TT [eEa waE arEnE (iv) Tmera o o=
afET % T @%rEha
TS Fal ST T |
w5 fewn 24 ¢
Options :

8643513641, (@F(D), (b)-(ii), (c)-(iv), (d)-(iii)
8643513642, @)-(ii), (b)~(i), (c)-(iv), (d)-(i)
8643513643, @)-(ii), (b)-(i), (c)-(ii), (d)-(iv)

2643513644, @)-(1), (B)-(iv), (c)-(iii), (d)-(ii)

Question Number : 42 Question Id : 8643511212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Statement I :  Sodium hydride can be used as an oxidising agent.
Statement II :  The lone pair of electrons on nitrogen in pyridine makes it basic.
Choose the CORRECT answer from the options given below :

Options :

3643513645, Doth statement I and statement II are true

2643513646, Both statement I and statement 11 are false

Statement I is true but statement 11 is false
8643513647.



Statement 1 is false but statement 1l is true
8643513648.

Question Number : 42 Question Id : 8643511212 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el  wfoaw oRyies e $9 G5d aReE ST o[ A
TE1: fHfafene TEhreae g FF WG TA2 TF TEASE I |
ferfefe fAoea s ws Tag afe Sfae :

Options :

8643513645, TS | TR TS 11 TG 7y

HE Ef:ﬂ_ E EHE]
8643513646. oS | o ¥ 11 =

C643513647. 3t | o1 5= ©fE 11 = er

0643513648, 3t | =g 5 OfE 11 7=y

Question Number : 43 Question Id : 8643511213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An unsaturated hydrocarbon X on ozonolysis gives A. Compound A when warmed with
ammonical silver nitrate forms a bright silver mirror along the sides of the test tube. The
unsaturated hydrocarbon X is :

Options :

CH;— C=C—CHj,
8643513649,

CH;—C = C—CH;

8643513650. Chly Chly

C=C— CHE _CH*:,,
8643513651. i



CHs,

|
CH;—Cz{ij
8643513652.

Question Number : 43 Question Id : 8643511213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QB ST TG X & TG T AR RS W Al (@9 A F @R GRS REeR ARipnd A5
o/ F41 =0, (58 Haa F9e Tege Fo@ WS SO FA| TPRHT TIGFEA X THA ¢

Options :
CH;— C=C—-CHj

8643513649,
CIIa—L]: = (l:—CII3

8643513650. Chly CHy
HC=C-CH,—CH,

8643513651, &

CH,

|
CH3—C=<
8643513652.

Question Number : 44 Question Id : 8643511214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SNy

Identify the reagent(s) ‘A" and condition(s) for the reaction

)

Options :

8643513653, +— Ch i dark, Anhydrous AICI;

A=HC], Zn(Cl,
8643513654. =



L «sTIV K
8643513655, A s LN hipid

9643513656, (1~ H; Anhydrous AICI,

Question Number : 44 Question Id : 8643511214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Cl

faems (RemerEm) ‘A’ oe Afemer e 58 (v9@r) e a1
Options :

A=Cl, ; FHe[, TE AICL,
8643513653. 2 ~

A=HC], ZnCl,
8643513654. =

=CL - UV g
8643513655. 2 LIZ ; UV ;

s643513656. >~ L ; S AICL,

Question Number : 45 Question Id : 8643511215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CH; COOH
OCH;, OCH,

In the above reaction, the reagent “A” is :
Options :

LiAIH,
8643513657.



: _ +
8643513658, *kaline KMnO,, H

8643513659, 1L Zn—Hg

]
8643513660, TVabHy, H3O

Question Number : 45 Question Id : 8643511215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CH; COOH
s ' i

0]

e

OCH,4 OCH,4
a%qq fafaame, Qe “A” 2'7 ;
Options :
8643513657, M,

e KMnO,, H*
8643513658.

HCl, Zn—Hg
8643513659.

; b
8643513660, TVaPHy, H20

Question Number : 46 Question Id : 8643511216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

N () CeHsMgBr  Ether

(1.0 equivalent), dry x

R gy NAALEIREE T Major Product
OCH,4

The structure of X is :

Options :



8643513661.

8643513662.

8643513663.

8643513664.

Question Number : 46 Question Id : 8643511216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

CN (i) CgH5MgBr 224
| (LOWgm),  w¥
N _— (i) HzO* EIERICI
OCH,
X TH

Options :



o
Sy
8643513661. O
M%;bf-”"ﬁ e
OCH,
8643513662.
".-\-\""*-\. .__.-"'
o
CﬁH;‘;
8643513663.
C‘)
- - | H-"“ Cﬁl |-5
8643513664.

Question Number : 47 Question Id : 8643511217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following, is least basic ?
Options :

(CH;CO),NH
8643513665. i

8643513666, = 2El5)pNH

(CH.CO)NHC,H
8643513667, 30 2775



(CoHe 2N
8643513668, "2 153

Question Number : 47 Question Id : 8643511217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T (D AGIZLF A TEF 7
Options :

(CH;CO),NH
8643513665. S

8643513666, \—2115)2NH

(CH.CO)NHC,H
8643513667, 30 275

(CoHz )N
8643513668, 2 503

Question Number : 48 Question Id : 8643511218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ammonolysis of Alkyl halides followed by the treatment with NaOH solution can be used to
prepare primary, secondary and tertiary amines. The purpose of NaOH in the reaction is :

Options :
2643513669, to remove basic impurities
8643513670, 'O activate NH; used in the reaction

8643513671 to increase the reactivity of alkyl halide

643513672, to remove acidic impurities

Question Number : 48 Question Id : 8643511218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



QTR (FATTT @7 T BT FE TAEE NaOH T2 757 Szama AN, raed o A
QTS 9 4 T NaOH 7 @2 afams S o' :
Options :

8643513660, PP OIS WS FAqlA

ffEae Taza 34 NH, F & faata
8643513670. i 3

2643513671, TR (AT Ferwel Jfa FAE PR

c6a35 367y, TOR el SreR FetA

Question Number : 49 Question Id : 8643511219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following polymer is used in the manufacture of wood laminates ?
Options :

643513673, Melamine formaldehyde resin

3643513674 Urea formaldehyde resin

8643513675, Cis-poly isoprene

8643513676. Phenol and formaldehyde resin

Question Number : 49 Question Id : 8643511219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT @O AL F104 TSl 419 (laminated sheet ) AT AFZA F41 4 7
Options :

0643513673, CROTNE T AATIET (AT

2643513674, 2O FATATIIZT (AT

o L) X "
8643513675, (227 A SR faT



8643513676, 11 SIF F AAACIRG (e

Question Number : 50 Question Id : 8643511220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The secondary structure of protein is stabilised by :
Options :

3643513677, N der Waals forces

8643513678. Peptide bond

8643513679, ' FUTOgEn bonding

8643513680 glycosidic bond

Question Number : 50 Question Id : 8643511220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
oif3ea CRrPSA UeH HHq T =
Options :

8643513677, DL o4 A1 I

8643513678. S

8643513679. e

8643513680. 'Y LS

Chemistry Section B
Section Id : 86435182
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5



Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435182
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643511221 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

When 35 mL of 0.15 M lead nitrate solution is mixed with 20 mL of 0.12 M chromic sulphate

solution, %107 % moles of lead sulphate precipitate out. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643511221 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

7afSAT 35 mL 0.15 M T&E 1306306 &4, 20 mL 0.12 M &' NF w=cwsd @ise fUzgena =7,
 x10-5 ' &TT T TUTEHE | (FHhey wAg 7ATe)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643511222 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ga (atomic mass 70 u) crystallizes in a hexagonal close packed structure. The total number
of voids in 0.581 g of Ga is %x10%'. (Round off to the Nearest Integer).

[Given : N, =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 52 Question Id : 8643511222 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ga (*IAMNES 4 70 u) T F o0 Fa 2 @5 Fooad [ 7o 09| 0.581 g Ga © I %4 AT
[f7am =ncE : N, =6.023 x 107

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643511223 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of orbitals with n=5, m= +2is (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643511223 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n=5 m=+29 (TS SEtEhed J2Am

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

| (oo e F2Ame)

Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 8643511224 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



At 25°C, 50 g of iron reacts with HCl to form FeC 12. The evolved hydrogen gas expands

against a constant pressure of 1 bar. The work done by the gas during this expansion is
].

(Round off to the Nearest Integer).

[Given : R=8.314 J mol ! K~!. Assume, hydrogen is an ideal gas]

[Atomic mass of Fe is 55.85 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643511224 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

25°C © 50 g Taca HCl 3 tirs fafea 3 FeCl, Bevim 3q | Fisfe czran 2i%gcee ¢1=d 1 bar 9 @b
fgg sro7 RAAFITS AWET T CARCHICT ANAMS 40 FIHT A=AHS T
(FboT sr4e M24me)

[fram =7 : R=8.314 Jmol ~ 1 K~11 «4fazaman 215greT <51 = org |

[@efd=F &9 Fe 9=55.85 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643511225 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

At 363 K, the vapour pressure of A is 21 kPa and that of B is 18 kPa. One mole of A and
2 moles of B are mixed. Assuming that this solution is ideal, the vapour pressure of the

mixture is kPa. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643511225 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

IKGATIFAT 6P 21 kPa F BT 18 kPal A T &F ¥a W BT 2 T'7 fgH 341 ')
JRTAE (@ T Ao €57 T T, G| A ve kPal (Frobea =rae 7eumme)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643511226 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sulphurous acid (H,50,) has Ka;=1.7x10"2 and Ka,=6.4x10"8. The pH of 0.588 M
(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643511226 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

gEreaE 4Ew (H,50;) T Ka;=1.7x10 2 9% Ka,=6.4x10"81 0.588 M H,50, 3 pH

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 57 Question Id : 8643511227 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 5.0 m mol dm aqueous solution of K1 has a conductance of 0.55 mS when measured in
a cell of cell constant 1.3 cm ~ L.
1

The molar conductivity of this solution is _

mSm? mol ~!. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643511227 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@G5 5.0 m mol dm ~ 3 KC1 7 551 T2 #€a1Zer 0.55 mS, @AW 6T (FH I (FH $FaF 1.3cm  !'©
oY T €3 TELoE 9 AN HEagesr mSm2 mol 1| (FFoew =re F2emE)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643511228 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A and B decompose via first order kinetics with half-lives 54.0 min and 18.0 min respectively.
Starting from an equimolar non reactive mixture of A and B, the time taken for the
concentration of A to become 16 times that of B is __ min. (Round off to the Nearest

Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643511228 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

AT T SITSAE ST A O B AAee =80 9@ & a=aE TU&ET 54.0 min 9% 18.0 min|

OG5 AT T'FAT WHfET A WIF B 7 g o4 WeE I, A T 09 B 9 16 29 @ETS sl AT
min| (FEIeT T4e FUTE)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643511229 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[Ti(H,0),]** absorbs light of wavelength 498 nm during a d —d transition. The octahedral
splitting energy for the above complex is - x10~P J. (Round off to the Nearest
Integer). h=6.626x10 H I8 c=3% 108 ms !

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 59 Question Id : 8643511229 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[Ti(H,0)]** @498 nm T (#1299 T2 d — d FTHT FAS (T A | ST Toerd A Fore
e «fe '  x10-197 (Frabew wee FHAmS)

h=6.626x10"3*Js; c=3x10° ms ™1
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643511230 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



In Duma’s method of estimation of nitrogen, 0.1840 g of an organic compound gave 30 mL
of nitrogen collected at 287 K and 758 mm of Hg pressure. The percentage composition of

nitrogen in the compound is . (Round off to the Nearest Integer).

[Given : Aqueous tension at 287 K=14 mm of Hg]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643511230 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TRGCE WA FA9 T “Fafoe, 287 K WF 758 mm Hg 519 0.1840 g 9 @51 05 (1% e 30 mL
TBHEH | CIMOE ABGreq *oaq Aegfe g’ | (Fobew e mame)
[fra =cg : Ta 5 287 K ©=14 mm Hg]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 86435183
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435183
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643511231 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

If the foot of the perpendicular from point (4, 3, 8) on the line Ll . P 2 _z-b

l 3 4

I # 0 is (3, 5, 7), then the shortest distance between the line L; and line

N X 2=y 4=z Sisequaltn:

3 4 5
Options :

Sl=

8643513691.

N|r—-=.

8643513692.

5=

8643513693.

2

8643513694, VO

Question Number : 61 Question Id : 8643511231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. = 2 z -, .
AL, : . 9’3 2 _ 41‘ £ 0 CT4TR @5 (4, 3, 8) W of 7 AW, (3,5, 7) T (o0

L, R L,:* _Yy—4_z2-5 mymuem e T [@F T 2T

Options :

1
8643513691. V6

1
8643513692, 2

Sl=

8643513693.



| -
=
8643513694, V3

Question Number : 62 Question Id : 8643511232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the lengths of intercepts on x-axis and y-axis made by the circle x>+ + ax + 2ay + c=0,
(a <0)be 242 and 245, respectively. Then the shortest distance from origin to a tangent to
this circle which is perpendicular to the line x + 2y =0, is equal to :

Options :

8643513695. V10

fr—

8643513696, V1
8643513697, V7

8643513698. V6

Question Number : 62 Question Id : 8643511232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ 27 x2+ 2 +ax + 2ay + =0 IS FEAI -FF WE O GG GCA (FAICE Oraf 242 AR
25, (a < 0) CO0F €% TG ~{F B x + 2y =0 @ SR 75 F FARE *H1 TFS 7F T 2
Options :

8643513695. V10

. .
[y

8643513696.

o

8643513697.

B

8643513698.

Question Number : 63 Question Id : 8643511233 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A A

r-lai +2j +k) =3

e —

Leta =i+2j —3kandb =2i -3j +5k. If r x a = b x

—3
r

r

M

and r- ‘2.5. F5j l'.l'.;(-') = — 1, wne R, then the value of « 4 ‘r

2
is equal to :
Options :

8643513699. ?

8643513700, 11

8643513701, 12

8643513702. 15

Question Number : 63 Question Id : 8643511233 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ TH a=i+2j-3k WF b=2i-3j+5k AW rxa=bxr,
= Al P -"‘.. .—'. | Y A _.'\.' . _-.2

r'{tH' IZJI:IF(_=3WI'[2;' I5j :.ﬂr_]= I,ueRCﬁ@ul‘r| I FHZ T :
Options :
8643513699. ?

8643513700, 11

8643513701, 12

8643513702. 15

Question Number : 64 Question Id : 8643511234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let f be a real valued function, defined on R — {1, 1} and given by

lx—1| 2
|x|1| x—1"

f(x) = 3log,

Then in which of the following intervals, function f(x) is increasing ?

Options :
8643513703, < )01 1)
1
=1 (2 =) - W)
8643513704. : /
1
[—oe, 5@ i1}
8643513705.
1
et M
8643513706. <

Question Number : 64 Question Id : 8643511234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

' =
@ ZHAR—{—1,1) TS [ GBI A% Fo 3ffe wieg oF f(x) = 3 log,, Ii‘lll —

e
HICE | (S0 T (5] TGS f(x) FACO! IS 29 7

Options :
8643513703. N
1
=1 (2 =) - W)
8643513704. E 4
1
o a1
8643513705.
3
et M
8643513706. -

Question Number : 65 Question Id : 8643511235 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 2
' 1
If the points of intersections of the ellipse 16 | b_z = 1 and the circle x2 +y2=4b, b > 4 lie

on the curve yz=312, then b is equal to :
Options :

8643513707, 2

8643513708. -

8643513709, 10

8643513710, 12

Question Number : 65 Question Id : 8643511235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 2
sk y ; S
H‘EE I ‘b—2= 1 Toga o1F 12+ y2=4b, b > 4 IT (FRAGAA 1> =32 TF9 S#qE AF, (S0 b
T 2T
Options :

8643513707.

8643513708.
8643513709.

8643513710. =

Question Number : 66 Question Id : 8643511236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let C be the locus of the mirror image of a point on the parabola y*=4x with respect to the
line y=x. Then the equation of tangent to Cat P(2, 1) is :
Options :

8643513711, X T3V=3



Ty —
8643513712, X TY=93

8643513713, X Y =1

Y
8643513714, X T2y =14

Question Number : 66 Question Id : 8643511236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4@ TA y=x @I ACATE 2 =4x W4geq 8*[@8 C 29 < Ta Wreiel afefasa wem == (org
P(2, 1) @ C 7 =opfeq FaiFae 27 :

Options :
8643513711, * 13V =23

Ty —
8643513712, XY =3

8643513713, X Y =1

e
8643513714, ¥ T2V =4

Question Number : 67 Question Id : 8643511237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A denote the event that a 6-digit integer formed by 0, 1, 2, 3, 4, 5, 6 without repetitions,
be divisible by 3. Then probability of event A is equal to:

Options :

WO |

8643513715.

W

8643513716.

8643513717, 27



k-

8643513718. 56

Question Number : 67 Question Id : 8643511237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

41 2'F SRFAEE FHARE WEEeF 0, 1,2,3,4, 5, 6 WFE 0% W 3 @ Towm @@ 6 WF oY
HLT G5 A | (30T A - TI0E FEEe! AN 57 -

Options :

W |

8643513715.

| w

8643513716.
8643513717.

8643513718.

Question Number : 68 Question Id : 8643511238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

am
If y=y(x) is the solution of the differential equation tanx) y=siny, 0=x= =, with

ar '
(2
y(0)=0, then ¥ \_Z,J equal to :

Options :

f ' .]
log 2

22 ) e

8643513719, y

1
=log._2
8643513720. 2 ©

log 2
8643513721. Be



|

— log. 2
4 OBe
8643513722.

Question Number : 68 Question Id : 8643511238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

" .dut,r ) T )
qf o b (tanx) y =sinx, 0=x= ?,y{[]j =Dw3ﬂ§f"ﬂmy=y{1] €51 A T, (T Y IJ
A Z T :
Options :

(-25)
1373 ) 18 2

8643513719

1
—Ing 2
8643513720. 2 °

log 2
8643513721, e

|

— log. 2

4 OBe
8643513722.

Question Number : 69 Question Id : 8643511239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-rcos_l{l {1‘}2} sin” '(1 — {x]) ;i
Let @ ¢ R be such that the function f(x)= 4 {x} {1}3 iz is

e, x=20

continuous at x=0, where {x}=x—[x], [x] is the greatest integer less than or equal to x.
Then :

Options :

8643513723, @ =0

8643513724, MO such o exists

L‘If:—ll._

8643513725. it



| g

8643513726.

Question Number : 69 Question Id : 8643511239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.r c(}g_l |:1 {_1'}2 ] Eﬁl_l {]. {.1}]

A TH ae RITS f(x) = 1 () — ) P wS g =x - [x], [ T
|, x=0

x OF T TYG WA x =0 e whbes | (5"

Options :

8643513723, @ =0

AT o %’E BETI

8643513724,
a= =

8643513725. V2
a= 2

8643513726. 4

Question Number : 70 Question Id : 8643511240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If (x, y, z) be an arbitrary point lying on a plane P which passes through the points (42, 0, 0),

(0,42, 0) and (0, 0, 42), then the value of the expression

' x—11 y—19 z—12 x+y+z

3 4 2 e 2 2 3 B T (o :
(y—19)" (z—12) (x—11)" (z—12) (x-11)" (y—19) 14(x—11) (y—-19) (z—12)

is equal to :

Options :

8643513727. 1



8643513728, 27

8643513729. 0

8643513730, 2

Question Number : 70 Question Id : 8643511240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
I P A (x, y, z) ReFen @b 7 & (42, 0, 0), (0, 42, 0) &= (0, 0, 42) YT 14 =, CHF
' x-11 y—19
3 4 I . I
(y—19)? (z—12)*  (x—-11)% (z-12)*  (x-11)? (y-19)* 14(x-11)(y—19) (z—12)
TWCHE TW 7 2] ;

Options :

12 xt+y+z

'

8643513727. 45

8643513728, 7

8643513729. 0

8643513730, 2

Question Number : 71 Question Id : 8643511241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let A={2, 3, 4, 5, ..., 30} and =" be an equivalence relation on A x A, defined by
(a, b) = (c, d), if and only if ad=bc. Then the number of ordered pairs which satisfy this

equivalence relation with ordered pair (4, 3) is equal to :

Options :

8643513731.

=

8643513732.

|

8643513733.



8643513734. 8

Question Number : 71 Question Id : 8643511241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AMTHA={2,3,4,5,.. 30 TF Ax AT SRS~ gl ATGENS @ IS IS (a, b) =~ (c, d)
3 S AMCZ ad = be | TR GZ ATGETS F#EH51 1% F41 1 (4, 3) T @H9 (00 J&F SIS @9
FLAN A 2T
Options :

8643513731.

8643513732.

|

8643513733.

8643513734.

Question Number : 72 Question Id : 8643511242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Al
Let P(x)=x%+ bx +c be a quadratic polynomial with real coefficients such that L}P(l'} dy = 1

and P(x) leaves remainder 5 when it is divided by (x — 2). Then the value of 9(b +c) is equal

to:

Options :

~]

8643513735.

8643513736, 2

8643513737. e

15
8643513738.

Question Number : 72 Question Id : 8643511242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
i
qq Z'A P(x) = x2+ bx + c IET 724 FILS @51 [a9rs qI2#M 1+ A0S [ﬂP{x} dx = 1 9% 330% (x - 2)

(T T A€ P(x) T SR 5 AF | THT Y(b+¢) I TATAH 2T
Options :

7
8643513735.

8643513736, 7

8643513737. e

15
8643513738.

Question Number : 73 Question Id : 8643511243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a rectangle ABCD having 5, 7, 6, 9 points in the interior of the line segments
AB, CD, BC, DA respectively. Let a be the number of triangles having these points from
different sides as vertices and {8 be the number of quadrilaterals having these points from

different sides as vertices. Then (f — «) is equal to :

Options :

=

8643513739, 1173

8643513740, 1890
8643513741, /17

8643513742. *

Question Number : 73 Question Id : 8643511243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AB, CD, BC, DA (@¥r4&Ta[@d 8 WS 5, 7, 6, 9 T@™ 21t ABCD @bl SRer®d| 441 2 8 o
7 7 fAfen aq «@1 w17 @2 [rpaes R Zone o fagea e o g2 [ien aeq =@ oy @3
P Mfemg ZEee oA sogea M| T8 (B — o) AN ZT

Options :

8643513739 1173



8643513740, 1890

8643513741, 7 17
8643513742, /0

Question Number : 74 Question Id : 8643511244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the integral

1 el
_ .[1'[][_1][- A

] C‘Il ’

where [x] denotes the greatest integer less than or equal to x. Then the value of I is equal

to:

Options :

8643513743, > (@ +1)
8643513744, €1 1)

45 (e 1)
8643513745.

9 (e—1)
8643513746.

Question Number : 74 Question Id : 8643511244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(0[] el , : g
I=[—Tdemwwﬁﬁmwmﬁaﬂamﬂxaﬁm¢xﬁﬁm®ﬁﬁmmmw
o
JERE| (AR [ITTANH 2T
Options :

8643513743, 2 (@)



0 (e
8643513744.

45 (e
8643513745.

9 (e—1)
8643513746.

Question Number : 75 Question Id : 8643511245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let A(—1, 1), B(3, 4) and C(2, 0) be given three points. A line y=mx, m>0, intersects lines
AC and BC at point P and Q respectively. Let A; and A, be the areas of AABC and APQC

respectively, such that Al =3A2, then the value of m is equal to :
Options :
8643513747. 1
e
8643513748, 1°

2
8643513749. ~

8643513750,

Question Number : 75 Question Id : 8643511245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

491 7' A(—1,1), B(3, 4) = C(2, 0) i1 2ra f7 | y=mx, m>0 (IETH AC S BC (TS
P oF Q 3@ FIH1 4q1 2’1 AABC W& APQC &g 55/ F1fet A; W& A, TS A, =3A,, THE m
T I AT 27 :

Options :

8643513747. 1
4

8643513748, 1°

2
8643513749. ~



8643513750,

Question Number : 76 Question Id : 8643511246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least value of zl where z is complex number which satisfies the inequality

'

(lz| +3) (|z| = 1)
Iz| + 1]

loge 2) = log 5 547 + 9i|, i= V=1, is equal to :

Options :

I3

8643513751.
8643513752.

8643513753.

8643513754.

Question Number : 76 Question Id : 8643511246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. (lz| +3) (|z] - ) . 5 .
AW exp [” | |||,,|} |'|_1I . log,. 2 | = log 7 |5~J;: I 9{'|, i = N—1 SRR i 41 2 @51 & oa
\ = A

e 27 To0E |z| T e I9 F= 277

Options :

2
8643513751.

e
8643513752, V¥

8643513753. 3

8643513754, ©

Question Number : 77 Question Id : 8643511247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



. ¥ : 3
Sin-x 1 + cos“x ¢os2x
. - . . 2 2. g :
The maximum value of f(x)= |1+ sin“x Cos<x cos2x|,xeRis:
. 3 2 o
sin~x 08 X sin 2x

Options :

G

8643513755.

o

8643513756.

8643513757. ¥/

3
8643513758, %

Question Number : 77 Question Id : 8643511247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
sin Ex 1 4 cnij cos 2x
f(x)=[1+sin’x cos’x cos2x|,xe RT 5P W27
. D 2 i
sin~x oS x sin 2x
Options :
=
8643513755, V°

8643513756.

8643513757. V7’

n'-l',.d'

8643513758.

Question Number : 78 Question Id : 8643511248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given that the inverse trigonometric functions take principal values only. Then, the number
BT . _1{ 4x g
of real values of x which satisfy sin l(éw F sin 1(?1 = sin" lx is equal to :
o J
Options :
8643513759, U

8643513760.

8643513761.

8643513762,

Question Number : 78 Question Id : 8643511248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
i =eg e e e o ot T1a 47 I1+1 #14 | 7908 sin~ (

TP x 9 %4 T 4N AT 2
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Options :

=

8643513759.
1
8643513760.

2
8643513761.

LFE

8643513762.

Question Number : 79 Question Id : 8643511249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let f: S — S where S=(0, =) be a twice differentiable function such that f(x+1)=xf(x). If
2 :5 — R be defined as g(x) =log, f(x), then the value of |g"(5) — ¢g"(1)| is equal to :

Options :
205
8643513763, 144



197
8643513764, 144

187
8643513765, 14%

8643513766, 1

Question Number : 79 Question Id : 8643511249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Q2 f:S — S G5 ESgeaE Fo ACS f(x + 1)=xf(x) TS S=(0, =) I g: S — R A% AT
g(x)=log, f(x) TET |g"(5) — ¢"(1)| T I« 7AW TT :

Options :
205
8643513763, 144

197
8643513764, 144

187
8643513765, 144

8643513766, 1

Question Number : 80 Question Id : 8643511250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let C, be the curve obtained by the solution of differential equation 2xy i—y = yz 22, x>0.

2xy ﬂ

Let the curve Cz be the solution of . If both the curves pass through (1, 1), then

X —F

the area enclosed b"i, the curves C 1 and Cz is equal to :

Options :



8643513767, +

8643513768, T 1
=

8643513769, 2

8643513770, ™ 11

Question Number : 80 Question Id : 8643511250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 81 Question Id : 8643511251 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For real numbers «, [3, v and &, if

2
(x2-1) A tan_l[l ll}

. X Z o

— dx
J {lelw
\ J

[_x4l 32 1} tan !
e 3

. . o |
= I"}Sﬁ(tm‘_l [l—llﬂ Hp tﬂl‘l_l[—ﬂl = 1 | atmfl[l l 11 +C
X A J L )

\ ., X

where C is an arbitrary constant, then the value of 10(x + v +8) is equal to __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643511251 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

i sy
1| x°+1
{xz 1) + tan 1[1 - |
Wﬂ%‘*‘ﬂ'u,[ﬂ,ywﬁﬁm,ﬁj e ﬂ dx
| -1| x°+1
[x4l3lel]tm1 1[1 1
: ' A

. 2 2 2
cd o o o - =l %+ 1
= o Iﬂgﬁ(ttﬂl . [1 Ww | If': tan I[MW F & tan 1[1 1 FC %
. X S b

\ X y ook S
C ¢ F95| (8 10(a+ By +8) 79 29 __ I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 82 Question Id : 8643511252 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In AABC, the lengths of sides AC and AB are 12 cm and 5 cm, respectively. If the area of
AABC is 30 cm? and R and r are respectively the radii of circumcircle and incircle of AABC,

then the value of 2R + r (in cm) is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643511252 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AABC © AC 5% AB 9129 twaf &d 12 cm € 5 cm | W AABC 9 Ff# 30 cm? <% AABC 9
ggEd aTd I R o€ r 30 (908 2R+ r (R.AT) T I W T |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643511253 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the distance of the point (1, — 2, 3) from the plane x + 2y —3z + 10=0 measured parallel to

X x—1 =% z£3. :
the line, 3 = = = 1 is ;,then the value of /m| is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 83 Question Id : 8643511253 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x—1 Ey_zl?

3 m 1

|rr

£
LRk "gl 3 (O ml FITATH ST

E ______
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643511254 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e ey Y Fay e o M A
Let ¢ be a vector perpendicular to the vectors a = i + j ~kand b=i +2j + k. If

— + A A — [ — — |
i 4

i B ?rk:l — 8 then the value of ¢ - la x b is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643511254 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

—

491 TF a=i+j -k FF b=i+2]+k (ST [517 S*@T ¢ (SFICHT 1% |

A A — -

Aic-|i+]+3k) =8 %, (&® ¢ - la x b) 7T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

[I4A TGS ZRELE x + 2y — 32+ 10 =0 AT #1 TW (1, — 2, 3) qoE



Text Areas : PlainText
Possible Answers :

100

Question Number : 85 Question Id : 8643511255 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf: R — Rand g: R — R be defined as

[x+a, x<0 x+1, x<0
X) = 3
=1 2

, x=0 [[1‘ 1Y°+b, x=0"

where a, b are non-negative real numbers. If (gof) (x) is continuous for all x € R, thena +b is

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643511255 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

M ZH f:R— R I g: R — R 701 ¥ HS% A0S

([x+a, x<0 x+1, x<0
f(x) =4 1

|l TqF g(x) =l

, x20 ti_x 1_]Elbr x=0*

a, b TS SYIF T AT | M T x € R T AA (gof) (x) SHAMDEH 24, TO08 a+b W+ 27

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643511256 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Consider the statistics of two sets of observations as follows :

Size Mean Variance
Observation [ 10 2 2
Observation 11 n 3 1
: _ .| . :
If the variance of the combined set of these two observations is 9 then the value of n is

r:-qual to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643511256 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HOT *RITe F32feq el To7e WAl 4999 ;
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643511257 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



n
Let n be a positive integer. Let A = Z{ 1]1" ne, [
k=0

If 63A =1 %ﬂ , then n is equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643511257 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643511258 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a b
Let A= Ll ] and B= [bl} be two 2 1 matrices with real entries such that A=XB, where
dz 7

1 1 =1 2 e O s 2 i,
K=ﬁ[1 " ],and keR. If a; +a, = E[bl | th and (k2 +1) by # 2b, b,, then the
value of k is

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 88 Question Id : 8643511258 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a b
Q1 7' AZLI} e B:LII HBT 2 x 1 HIFHT IRT (9 4FT (NAFF qACS A= XB, TS
a5 2

K:%L k]Wkg[{|ﬁﬂ% | a§=;{h% Ib%] W% (k2+1) b3 # —2b; b, TS@k T
iy 3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643511259 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let l, a and b be in G.P. and l, l,
16 a b

6 bein A.P., wherea, b> 0. Then 72(a + b) is equal to
a

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643511259 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643511260 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let

Snl(x)= IHHHHI | lnga}!,;‘l’ Flog 1, x + o

x+log 1, x+ log
a’a 1 “a 18 -

:‘1r 17 1.-;
asl asxz

where a > 1. If 5,,(x) =1093 and 5;,(2x) =265, then value of a is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643511260 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

g S, (x) = Ioga}i;x I Inga}&x I Ioga}%x I Ioga}{lx I IngaHﬁx I Inga}%x I
a>11 TW S, (x)=1093 T S ,(2x)=265, TSF a q AW Tl 29 _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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